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Teaching and Learning

Improving the quality of argument
in GCSE Business Studies

What does it mean to write good business
studies answers? How should this be shared
with students? The aim of this article is to
remove some of the mystery and guesswork
about how to do well in business studies by
presenting a straightforward, accessible
template for gauging the quality of written
work.

Identifying an underlying pattern to work will
have the benefit of bringing together the relatively
disparate aspects contained within business studies
and thus give the subject more coherence. In addition,
establishing a shared language about the nature of
the subject (rather than just the subject content),
presents tremendous opportunities for meaningful
dialogue about improvement, both between teachers
and between students and teachers.

Figure 1: The framework
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The framework

The framework grid in Figure 1 establishes key criteria
for assessing written answers in business studies -
structure, business language, relevance, logic chains
and evaluation. There are three different levels for
each criterion.

Structure

This row in the framework is concerned with making
students feel secure about the overall shape of their
written work. This should help them focus on the
depth of answers and not skate over too many lines
of argument or simply concentrate on one side of an
issue. It encourages students to consider both sides of
an issue (level 2) and provide a conclusion (where
appropriate).
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The term “point” in the framework represents
an answer to a question that stands up on its own. For
example, when discussing the disadvantages of being
a sole trader, the fact that sole traders face unlimited
liability would be a possible point. Points are concise,
snappy and usually contain business studies concepts
and/or terminology. Points start paragraphs, provide a
focus for them and act as a springboard for
explanation. Points can be advantages, disadvantages,
factors, impacts, reasons or positive and negative
aspects.

Figure 2: Structuring an answer
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Figure 3: Logic chains

students is that if they could have written the
response before studying business studies, then the
terms in their answer are much less likely to count as
good business language.

Relevance

Good business studies writing always relates
specifically to the business under discussion. To get to
level 1 in the framework, the answer must clearly be
correct. To move to level 2, some detail must be
integrated into the answer that
makes it true for that particular
business. Level 3 encourages students
to relate their answers in more than
one way to the context. A
straightforward test for students to

Paragraph 1

Paragraph2  check for relevance is to replace the
name of the particular business (if it
has been used) in the answer with the

Paragraph 3 name of another business. If the

answer still makes sense, it is likely
that the relevance is relatively weak.
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Logic chains

The logic chains row in the
framework is about the number of
stages that thinking moves through
in an answer. Figure 3 sets out the
basic ideas behind this concept.

Ihh;f mesns There are at least two ways to
look at this aspect of a student's

Thisis work. First, it is possible to set out a

, because . string of interconnected

consequences. This is the purpose of
the “what might happen next?”
prompt. Useful language here for
students might be connecting phrases
such as “as a result...”, “this means

The place of points at the start of paragraphs
in an evaluative answer is illustrated in Figure 2.
Students could perform a quick visual check to assess
whether their answer follows this pattern. This is
purpose of the “what does my work look like?”
prompt question in the framework.

Business language

Assessing the frequency of use of business language is
a pretty good proxy measure of an individual
student’s ability in business studies. A useful test for
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that...” and “so...". An answer that
set out that a business with falling costs might
experience a rise in profits, and so the firm might find
it easier to attract investors would therefore represent
a two-step chain.

The other main method for explaining is to
give a reason for - or to show understanding of - the
previous statement in the chain. This may consist of
simply defining or explaining a concept. For example,
if an advantage of growth is that a firm could benefit
from economies of scale, the next step in the
argument might be to say what economies of scale
are. Useful language here can be “this means that...”
or “this is because...”.
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Figure 4: Applying the framework in practice

(10 marks)

Question: John and Anwar are currently operating Designs for U - a clothing retailer
-- as a partnership but are considering becoming a private limited company.
Recommend whether or not they should become a private limited company (Ltd).

[ Student answer
(actual text, but my italics)

Commentary

The advamang:bof an Ltd 1s the Ltd .
has limited liability. This means that

if the business becomes insolvent
then the owners only lose what they
put into the business. As a result all
personal posision are safe.

Another advantage is that separate .
legal identity this means if the
Designs for U gets sued John and
Anwar wont get sued. As a result
Designs for U will have to pay
[...cannot read this...] to John and
Anwar.

The disadvantages are that theres a lot
of paperwork. As a result this is time
consuming so John an Anwar will be
less productive.

Also the share cannot be sold on

the Stockmarket. This means John
and Anwar will only be selling shares
to the family as a result less capital is | o
available.

My conclusion is that it would be a
good idea because the advantages
outweigh the disadvantages and they
are a small business with a very
competitive market so they need
security.

Four points are identified, two for and
two against becoming a limited company.
The points occur in the first sentence of
each paragraph. A conclusion is

rovided. This answer reaches structure
evel 3 in the framework.

Business terms are in blue italics (added
by me). Paragraph 4 contains three terms
but paragraphs 2 and 3 contain only one.
The level awarded would depend on how
teachers choose to use the framework. It
could be awarded level 2 if an average is
taken, or level 3 if the paragraph with the
maximum number of terms is considered.

Up to the final paragraph the answer only
earns level 1 for relevance since the
arguments could be true of any business.
However, in the final paragraph specific
reference is made to the features of the
Pcsilg;s for U business, hence it achieves
evel 2.

Paragraphs 1, 3 and 4 are three step logic
chains. Paragraph 2 is a failed three step
chain. Level 3 would be awarded.

The final paragraph might just about
achieve level 2 for evaluation. The
crucial phrase here is “so they need
security”. Without this phrase, the
judgement would be unsupported. Special
facts about the business are used to say
why security (and presumably limited
liability) is important in this case.

In any line of argument, both methods can be
used in any sequence. At some points, consequences
might need explaining; at others, further effects
might need setting out which then require

explanation.

should expand into a particular
market might be supported by
the argument that the
marketing director has
experience in that area. For
level 2, inclusion of the broader
external context is rewarded.
This could involve referring to
the state of the economy, the
competition in the market or
the level of consumer demand.

Using the framework

Figure 4 illustrates how the
framework might be applied to
make sense of an actual piece
of student writing.

To test this approach, the
framework was introduced to
five groups of GCSE Year 10
students across three schools for
4-6 lessons. Tests were given
before and after the framework
introduction, and control
groups were used in each
school. In all schools, the
performance of the project
groups improved significantly
relative to the controls. The
initial and final test contained
an identical question. This

allowed similar lines of argument to be directly
compared for individual students. Figure 5 shows
extracts of the answers from three students.

The answers from the final test in Figure 5

Evaluation

Everyone knows that evaluation in business studies is
about making a judgement. However, it is often
relatively poorly specified. Good evaluation is often
said to be mature or sophisticated, but what do these
terms really mean?

In the framework, evaluation involves making a
judgement, where appropriate, and then supporting
that with further explanation within the particular
context. In other words, evaluation is a judgement
plus logic chain(s) plus relevance. A level 1 answer will
refer to some aspect of the business to add weight to
an argument. For example, a judgement that a firm

show significant structural improvement. Arguments
have become more logically structured with a greater
number of business terms (in blue). Most begin with a
clearly stated point that answers the question and
provides a springboard for multi-stage explanation.
Even the more able student (B) has improved by
weaving in a strand of highly context-specific
reasoning. The other two students are clearly thinking
more deeply about the answers - the mention of
“unstability for their family” in C's answer, for
example, or the “making it less of a risk when
introducing new ideas” in A's work.

Student responses to the framework were

generally very positive. Here are a selection of
comments.
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[l now] know it’s better to refer to the business
[l am] more confident with longer questions
[it has] helped me write it so it is more flowing

[It's about] stating short points with key terms
and explaining them with logic chains

Made me think more about my work before |
write it

I know it’s better to go into a lot of detail on
each point instead of writing lots of points

Taught me to write in a more organised way

Why didn’t you tell me about this at the
beginning of the year

Conclusions

The framework is unlikely to improve the work of all
students in every case, of course, but the evidence
from the trial did indicate that for many it did make a
significant difference. The great benefit of the
framework is that it ties the form and the content of
writing in business studies together, makes them
explicit, and provides students and teachers with a
transparent structure in which to set their thinking.
The framework can help define exactly what business
studies is.

The framework can act as a starting point and
a road map for improvement. It is easier for students
to work out what to do if there is a strong sense of
overall direction and pattern.
The framework has the
potential to reduce the fear

that it introduces students to a model for rational
discussion and decision making, where it is important
to consider different points of view, where the
context is highly valued and where the argument is
logically structured. In its specific emphasis on these
vital issues, the framework is assisting in the
development of the kind of values and skills that can
help make students more effective democratic
citizens.

Guy Durden is head of business studies and
economics at Queen Elizabeth’s Grammar School,
Ashbourne, Derbyshire and an AST.
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Figure 5: Testing the framework

Questlon: John and Anwar are currently operating as a partnership but are considering
of the, blank space below a becoming a private limited company. Recommend whether or not they should become a private
question. limited company (Ltd).
[ Student [ Inltial test Final test
Many students persist T think that John and Anwar should I think that they should become a Ltd
in not using business become a private limited company because this means they will receive
terminoloay, and fail to because they would get limited liability | limited liability meaning that if the
; 9¥' : A which is if the business goes bust they | company were to go bankrupt they would
englam thglr answers in will not loss any of their own belonging. | not lose personal possessions it is the
sufficient depth. Man company that will lose out making it less
habitually dg not prozide ofa (i;k when setting up or introducing
. \ new ideas ....
conclt_.|5|ons to evall‘.latlve Becoming a private limited company John and Anwar are a relatively new
questions. Could this be has its benefits as they would have business this means that they still risk
because they do not see limited Iiallbilitymwhe‘;e if t?e bl:ls]iness [g}?ing banl;:kupll ig demlantcli falls bet(:jauser
i ;) goes insolvent they don’t lose their ey most likely have little retained profit,
.tr?]es: things aif# nldaTeT(tlal 0 personal assets — only what they therefore operating as an Ltd would be
e iramework helps tackie B | invested. this security can be priceless | recommended as they would have limited
this through the integrated to a new firm unsure'if it will succeed. | liability reducing the personal and financial
g g y g the pe
picture of business studies it risks of going insolvent as all those in
. g usiness with limited liability don’t loose
provides. Inthe end it is a any personal assets if the firm goes
much more powerful way of insorveem.
leveraging change in student To begin, in a partnership they have Being part of a partnership means you have
behaviour than exhortation unlimited liability meaning they could | unlimited liability. This means that if the
lone £0 bankrupt and loose everything business goes bankrupt you may loose
alone. . C not just what they put into the business. | personal assets such as your house. As a
It is surely one of the result, there would be unstability for their
benefits of business studies {;":,",;,‘L{e;i"‘c" could lead to them being
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